Name: ____________________________                                                 Form: _______

Worksheet 6 -Transformers.

The formula for transformers is given by: 
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Exercise 1: The figure below represents a transformer connected to a 240V a.c. supply. The primary coil has 500 turns whilst the secondary coil has 40 turns.
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1.  Explain what is meant by a step-down transformer.

________________________________________________________________

 2. Calculate the output voltage for this transformer.

________________________________________________________________

3. Why is a transformer more efficient if the core is laminated?
________________________________________________________________
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Exercise 2: A 24V lamp needing 2A is supplied from a 100% efficient transformer connected to the 240V mains.

a)  What is the turns ratio?

b)  How much power is supplied to the lamp? 

[Hint: power = voltage x current ]

c)  How much power is supplied by the mains?

[Hint: Solution to problem is on your book page 302]

d)  How much current is taken from the mains? 
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